Answer Tuesday 5th May
Year 5 Maths Converting Units of Time
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Year 6 Maths Convert Metric Measures
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Grammar Concise Noun Phrases
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Expected

5a. 132 minutes = 2 hours 12 minutes;

90 minutes = 1 hour 30 minutes;

188 minutes = 3 hours 8 minutes

6a. False: 4 years é months = 54 months
7a. A

8a. 610 seconds, 10 minutes 20 seconds,
10 minutes 30 seconds, 650 seconds

Expected

5b. 100 days = 14 weeks 2 days;

93 days = 13 weeks 2 days;

85 days = 12 weeks 1 day

6b. False: 330 seconds = 5 minutes and 30
seconds

7b.A

8b. 146 minutes, 1 hour 56 minutes, 1 hour
45 minutes, 85 minutes
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Expected

4a.72 minutes > 3,780 seconds < 3,900
seconds

3,780 seconds < 72 minutes > 3,900
seconds

3,900 seconds < 72 minutes > 3,780
seconds

3,900 seconds > 3,780 seconds < 72
minutes

5a. No, Joe is incorrect. There are 7 days
in1week. 13x7=9150 91 days = 13
weeks. 80 days = 11 weeks, 3 days

6a. Chloe makes her craft the quickest, in
1 hour and 55 minutes

Expected

4b. 55 months < 66 months = 5 years 6
months

55 months < 5 years 6 months = 66 months
5b. No, Ravi is incorrect. There are 24
hours in 1 day therefore Lily is going o the
beachin 1 day and 11 hours. 3 x 24 = 72
and 72+ 5 =77 s0 3 days and 5 hours = 77
hours.

6b. Aamina finishes the race last as she
takes 270 seconds.
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Expected

5a. 2,520ml

6a. 1.454mm; 251cm; 1m; 1.5m; 1,605mm;
176cm

7a. =1,000; 0.539
8a. A. 1,550m = 1.51km; C. 72cm = 720mm

Expected

5b. 3,0409

6b. 1.27kg; 1,002g; 1kg; 500g; 0.25kg;
1259

7b. x 1,000; 3,200

8b. C. 1.33kg = 1,330g; D. 2,055g =
2.055kg
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X incorrect because his pet snail
travelled 11.15m on Wednesday, whi
more than any other day.

5a. Various answers, for example: 4,010g

(4.01kg); 4,020g (4.02kg); 4,030g (4.03kg)
6a. Joey's table is incorrect. He has mixed
up two digits in the L column.
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is incorrect because her container
filled with 240ml on Friday, which is more
than any other day.
5b. Various answers, for example: 24.501m
(2,450.1cm); 24.502m (2,450.2cm);
24.503m (2,450.3cm)
6b. Charlotte’s table is incorrect. She has
divided by 100 instead of 1,000.
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4a. Adjectives: loose, kitchen
Prepositional phrases: in the door, behind
him

5a.B

6a. A

Expected

4b. Adjectives: faint, own

Prepositional phrases: beneath the door
5b. A

6b.A
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Expected

4a. Various answers, for example: the ill-
fitting collar, a formal shirt

5a. B because senfence A repeats the
location.

6a. Various answers, for example: Feeling
sick, he stared uncertainly at the waiting
doorbell.

Expected

4b. Various answers, for example: the
deafening jet, two planes at the end of the
runway.

5b. B because it doesn't repeat
information already given elsewhere.

6b. Various answers, for example: Their
crews were happy fo answer Kuldeep’s
many questions.




